

$$x_n = \frac{1}{n^b} \sum_{k=0}^{n-1} \frac{1}{(n+k)^a} = \frac{1}{n^b} \sum_{k=0}^{n-1} \frac{\left(\frac{1}{n}\right)^a}{\left(1+\frac{k}{n}\right)^a} = \frac{1}{n^{a+b-1}} \sum_{k=0}^{n-1} \frac{1}{\left(1+\frac{k}{n}\right)^a} \frac{1}{n}$$

$$a+b-1=0 \text{ のとき } \lim_{n \rightarrow \infty} \frac{1}{n^{a+b-1}} = 1$$

$$a+b-1 > 0 \text{ のとき } \lim_{n \rightarrow \infty} \frac{1}{n^{a+b-1}} = 0$$

$$a+b-1 < 0 \text{ のとき } \lim_{n \rightarrow \infty} \frac{1}{n^{a+b-1}} = \infty$$

$$\lim_{n \rightarrow \infty} \sum_{k=0}^{n-1} \frac{1}{\left(1+\frac{k}{n}\right)^a} \frac{1}{n} = \int_0^1 \frac{1}{(1+x)^a} dx$$

$$a=1 \text{ のとき } \int_0^1 \frac{1}{(1+x)^a} dx = [\log(1+x)]_0^1 = \log 2$$

$$a \neq 1 \text{ のとき } \int_0^1 \frac{1}{(1+x)^a} dx = \left[\frac{(1+x)^{-a+1}}{-a+1} \right]_0^1 = \frac{2^{-a+1} - 1}{-a+1}$$

以上より、 $a+b \geq 1$ のとき x_n は収束する。

$$a+b > 1 \text{ のとき } \lim_{n \rightarrow \infty} x_n = 0$$

$$a+b=1, a=1 \text{ のとき } \lim_{n \rightarrow \infty} x_n = \log 2$$

$$a+b=1, a \neq 1 \text{ のとき } \lim_{n \rightarrow \infty} x_n = \frac{2^{-a+1} - 1}{-a+1}$$